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2. Attempt all questions.

3. All questions carry equal marks.
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followed throughout the paper.
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1. (a) Whatdo you mean by third degree price discrimination ? When is it profitable

for a monopolist to discriminate ? How will he allocate his output in two

markets and charge different prices ? (7'7)

(b) What do you mean by peak load pricing ? How can public utility company
producing electricity be better off by following a policy of peak load pricing

than one of uniform pricing 7 (7'%)
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OR

(a) What is the rule of thumb for pricing under monopoly ? What is meant by
monopoly power ? How can the Learner index of monopoly power be used

to measure it ? (7'%)

(b) With the help of diagrams, explain why there is no market supply curve

under conditions of monopoly. : (7'4)
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2. (a) How in the long run monopolistic competition is inefficient as compared to

perfect competition ? Explain with regard to :
(1) Relation between price and marginal cost

(i) Excess capacity (7'%)
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(b) What are the assumptions underline the Cournot’s Duopoly model ? Explain

this model with the help of reaction curves. (7'2)
OR

(a) What do you understand by ‘Perfect Cartel’ ? How does it achieve joint

profit maximization and allocate output amongst member firms ? (72)

(b) Explain Price Leadership model of a dominant firm with the help of a
diagram. (72)
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(a) For a monopsonist, what is the relationship between the supply curve of
labour and marginal wage curve ? Show how equilibrium wage rate
and employment are determined. What is monopsonistic exploitation of

labour ? (7%2)

(b) How do trade unions influence wages and employment when the labour

market is monopsonist in nature ? ‘ (7'%2)

PTO.
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OR

(a) Derive the demand curve of a firm for a single variable factor under the

conditions of Perfect Competition in both Product and Factor markets.
(77)

(b) Explain the concept of Transfer Earnings. How is it related to Economic

Rent ? Explain with suitable diagrams. (7'%)
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4. (a) According to Stackleberg model, is it advantageous to go first ? Suppose
that two identical firms produce breakfast cereal and that they are the only

two firms in the market they face constant cost conditions such that :
AC = MC = 60

Market demand function: P =240 - Q Q=Q,+Q)

Where Q, is the output of firm 1 and Q, that of firm 2.

Suppose firm 1 takes its output decision before firm 2 i.e. firm 1 becomes
the Stackleberg leader, how much will each firm produce and what will their
profits be ? (7'%)
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(b) What do you mean by Prisoner’s dilemma ? Use the prisoner’s dilemma

®)

model to show why firms attempt to form cartel and yet cheat.  (7%)
OR

An individual is considering two investment projects.

Project A will return a zero profit if conditions are poor, a profit of
Rs. 16 if conditions are good and a profit of Rs. 49 if conditions are

excellent.

Project B will return a profit of Rs. 4 if conditions are poor, profit of
Rs. 9 if conditions are good and a profit of Rs. 49 if conditions are

excellent.
The probability distributions of conditions are as follows :

Conditions : Poor Good Excellent

Probability : . 40% 50% 10%

(i) Calculate the expected value of each project and identify the preferred

projects according to this criterion.

(i) The individual’s utility function for profit is equal to the square root of
the profit. Calculate the expected value of each project and identify

the preferred projects according to this criterion.

(iii) Is this individual risk-averse, risk-neutral or risk-seeking ? Why ?
(7%)

How do investors calculate the present value of a bond ? What do you mean
by effective yield on bond ? What is a perpetuity ? If the interest rate is 10%
per annum, what is the present value of a perpetuity that pays Rs. 500 per

year for ever ? (77)

PTO.
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What do you mean by efficiency in output markets ? Show that goods will
not be distributed efficiently if MRS # MRT. (7'%)

Using diagrams, show how conditions of perfect competition automatically

lead to Pareto optimality in exchange, production and product mix. (7'%)
OR

Even if we have perfect competition in the economy, we cannot achieve

Pareto optimality in the existence of public good. Explain how will the efficient

output of a public good be derived (use diagrams). (7'7)
“Adverse selection is the result of asymmetric information.” Explain how this
problem of adverse selection can be overcome. (7'2)
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